
 





3. (20 points)
For this problem, define f(x) as follows:

f(x) =
|x→ 1|
x2 → 1

See the guidance from question 2 for acceptable values of a limit.

(i) (10 pts) Determine the values of c for which lim
x→c

f(x) does not exist. For these values,

compute the one-sided limits lim
x→c+

f(x) and lim
x→c→

f(x).





f(x) =
|x→ 1|
x2 → 1

(ii) (3 pts) Determine the value(s) of c for which f is discontinuous at x = c.

(iii) (7 pts) For the value(s) of c identified in (iii), identify which value(s) are removable
discontinuities and which are non-removable discontuities.


